CucreMbl NUHENHbIX
ypaBHeHUU ¢ AByMSA
HEU3BECTHbIMM




X +4y =5

x*- y>=16

5y —4x=120-B
X+y=2

2X +0,5 y =- 26 K
x*-3y=4
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2X +5y =16
8X +20y =50
4y —x =8

10y + 4x =32




 2X +5y =16
qy - x=8

—

MHM{ 4y - x =8

Uiin

10y + 4xX =32

—

| 8x +20y=50

4y —x = 8




22X +5y =16
20y + 8x =50




12X +5y = 16
18X + 20y =32




LokaxuTe, YTO NpsAMbIe
y=-2X+6,y=3X-4 U
y =2X -2 UMelT ooy }

TOYKY, He CTpOA
rpachnKkoB hyHKLUMN.




YJyeHUK peluan cucrtemy
ypaBHEHUM
% X+0,5y=2
2X+y=8 ,
HO Y Hero nony4unncs CTpaHHbIN

OTBeT:
4 = 8.
a{lomoruTe B 3TOM
.,?/{o\l’:? PYAHUTENIbHOM MONOXeHUN!







IlomalluHee 3agaHue:

11x+1=-3y
Y+2x=3

2y +5x=7%

Ne674(2), 676




Cnacunbo 3a ypok!




